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TABLE OF CONTENTS

1.0 ABSTRA(T
2.0 REQUIREMENTS
2.1 EQUIPMENT
2.2 PRELIMINARY PKOGRAM;S
OPERATING PROGRAMS
3.1 LOADING PROCEDURE
3.2 STARTING PROCEDURE
3.3 OPTIONAL SWITCH SETTING
3.4 RUN TIMc
4.0 OPERATING PROCEDURES
5.0 PROGRAM DESCRIPTION
6.0 ERROR REPORTING
1.0 ABSTRA(T
THE RK611 DISKLESS CONTROLLER DIAGNOSTIC: PART 1 READS AND WRITES
EVERY RK611 REGISTER, TESTS THE INTERRUPT MECHANISM, AND TEST THF
SILO LOADING LOGIC. NO RKO6 DRIVE IS REQUIRED FOR PROGRAM
EXECUTION.
2.0 REQUIREMINTS
2.1 EQUIPMENT
PDP=11 SYSTEM (16k CORE MEMOKY)
CONSOLE TERMINAL
DECTAPE, PAPER TAPE READER, OR DECDISK
RK611 CONTROLLER
2.2 PRELIMINARY PROGRAMS
NCONE
3.0 OPERATING PROCEDURES
3.1 LOADING PROCEDURE
THE PROGRAM (AN BE LOADED FROM PAPER TAPE USING ABSOLUTE LOJADER
OR FROM XXDP MED]A SUPPORTED BY XxDP.
X.2 STARTING PROCEDURE

LOCATION 200 = START PROGRAM

SEQ 000¢
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LOCATION 204 - RESTART PROGRAM
LOCATION 214 = REQUEST BUS ADDRESS, VECTOR ADDRESS, AND

PRIORITY MODIFICATION
3.3 SPTIONAL SWIT(H SETTINGS

SWwi5 = HALT PROGRAM

Swlé - LOOP ON TEST

Swl3 = INHIBIT ERROR TYPE OUT

SWi2 -~ ABORT AFTER 20 ERRORS

Swll - INMIBIT [TERATION COUNT

5¢10 = BELL ON ERROR

Sw9 = LOOP ON ERROR

Sw8 =~ LOOP ON TEST IN SWITCHES 0-7
3.5 RUN TImE

FIRST PASS 7 SECONDS

SUBSEQUENT PASSES 2 MINUTES

4.0 OPERATING PROCEDURES
THE PROGRAM [S EXECUTED BY STARTING AT THE APPROPJIATE ADDRESS.

5.0 PROGRAM DESCRIPTION
TEoT ADDRESS ALL RK611 REGISTERS

THi> TEST WILL ACCESS ALL RK611 REGISTERS AND (HECK TO
MAKE SURE THAT NON-EXISTENT MEMORY DOES NOT OCCUR.

A NON-EXISTENT MEMORY INDICATES EITHER THAT THE RKk4'1
REGISTER BASE ADDRESS I, INCORRECT OR THAT THE

RK611 DOES NOT RESPOND TO UNIBUS DIALOGUE.

*«RESET, C(ONTROLLER CLEAR, AND TRI-STATE TESTS

TEST 2 RESET RK611 AND VERIFY REGISTERS
RESET THE RK611 CONTROLLER AND READ ALL REGISTER OF THE
RK611 REGISTERS EXCtPT THE DATA BUFFER AND VERIFY THAl
THEY ARE CORRECT. REEXAMINE COMMAND AND STATUS REGISTER
TO MAKE SURE CONTROLLER ERROR DID NCT StT. REEXAMINE
(OMMAND AND STATUS REGISTER 2 TO MAKE SURE DATA LATE
DID NOT SET.
THE SUCCESSFUL EXECUTION OF THIS TEST VERIFIES THAT NO

* BIT OF THE TRI-STATE BUS IS STUCK TO ONE.
TEST 3 (CNTROLLER CLEAR AND VERIFY REGISTERS

INITIALIZE THE RK611 (ONTROLLER W!TH A CONTRCL.LER
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TEST &

TEST §

TEST 6

TEST 7

5

SEQ C004

CLEAR AND READ ALL REGISTER OF THE RKk611 RECISTESRS

EXCEPT THE DATA BUFFER AND VERIFY THAT THEY ARE

CORRECT. REEXAMINE (OMMAND AND STATUS REGISTER 1

TO MAKE SURE CONTROLLER ERROR DID NOT SET. REEXAMINE

g?gMAg? gg? STATUS REGISTER 2 TO MAKE SURE DATA _ATE
N .

WRITE BUS ADDRESS WITH 177777 (PART 1)

THIS TEST WILL WRITE THE BUS ADDRESS REGISTER 10 177777
AND CHECK IF EQUAL TO 177776 AND THAT NO REGISTER INTERA
TAKES PLACE. A RESET IS DONE AT THE END OF THE TEST TO
MAKE SURE THE BUS ADDRESS CLEARS AND ALL RK611 REGISTERS
ARE "N THEIR INITIALIZED STATE.

WRITE BUS ADDRESS WITH 177777 (PART 2)

THIS TEST WILL WRITE THE BUS ADDRESS REGISTER 10 177777,
A CONTROLLER CLEAR IS DONE. MAKE SURE THE BUS ADDRESS fL

WRITE WORD COUNT REG. WITH 177777

THIS TEST WILL WFITE THE WORD (OUNT REGISTER

TO O AND 177777 AND (HECK IF EQUAL TO O AND 177777
RESPECTIVELY AND THAT NO REGISTER INTERACTION TAKES PLA(
ISSUE A CONTROLLER CLEAR AND MADE SURE THAT THt WORC
COUNT REGISTER DOES NOT (HANGE.

WRITE DISK ADDRESS WITH 177777

THIS TEST WILL WRITE THE DISK ADDRESS REGISTER 10 177777
AND CHECK [+ EQUAL TO 003437 AND THAT NO REGISTER [NTERA
TAKES PLACE. A (ONTROLLER CLEAR IS DONE AT THE END Of
THE TEST TO MAKE SURE THE DISK ADDRESS CLEARS.

*«REGISTER INTERACTION TESTS

TEST 10

ALL REGISTER INTERACTION TESTS CONSISTS OF WRITING A
REGISTER AND (HECKING ITS CONTENTS AGAINST EXPECTED
CONTENTS. THFN ALL OTHER REGISTERS ARE READ EX(CEPT

THE DATA BUFFER TO (HECK WHETHER TAEY HAVE (HANGED FROM
THEIR INITIALIZED CONDITIONS.

REGISTER INTERACTION USING BUS ADDRESS (PART 1)

THIS TEST WILL INITIALIZE ALL REGISTERS WITH A CONTROLLE
CLEAR TO HE RK611 (ONTROLLER, [T WILL THEN WwRITF THE WO
COUNT REGISTER 10 Q.

THE TEST ITSELF WILL CONSIST OF WRITING THE

]
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TEST 11

TEST 12

TEST 13

6
SEQ 0005
BUS ADDRESS RECISTER wITH THE FOLLOWING CONFIGLRATIONS A
TEST IF BLS ADDRESS IS CORRECT AND THAT NO
REGISTER INTERACTION TAKES PLACE.
000000 000010 000200 004000 100000
00001 000020 000400 010000
000002 000040 001000 0200C9
000004 000100 002000 040000

REGISTER INTERACTION USING BUS ADDRESS (PART 2)

THIS TEST WILL INIJTIALIZE ALL REGISTERS WITH A CONTROLLE
CLEAR TO THE RK611 CONTROLLER. IT WILL THEN WRITE THE WO
COUNT REGISTER TO 0.

THE TEST ITSELF WILL CONSIST OF WRITING THE

BUS ADDRESS REGISTER WITH THE FOLLOWING (ONFIGURATIONS A
TEST 1F BUS ADDRESS IS CORRECT AND THAT NO

REGISTER INTERACTION TAKES PLACE.

1772777 177767 177577 173777 077777
177776 177757 177377 167777
177775 77737 176777 157777
177773 177677 175777 137777

REGISTER INTERACTION USING BUS ADDRESS (PART 3)

THIS TEST WILL INITIALIZE ALL REGISTERS WITH A CONTROLLE
CLEAR TO THE RK611 CCVTROLLER. IT wilL THEN WRITE THE WO
COUNT REGISTER T0 0.

THE TEST ITSELF WILL CONSIST OF WRITING THE

BUS ADDRESS REGISTER WITH THE FOLLOWING CONFJGURATIONS A
TEST IF BUS -ADDRESS IS CORRECT AND THAT NO

REGISTER INTERACTION TAKES PLACE.

000001 000037 000777 017777 000000

000003 000077 001777 Q37777

000007 000177 Q03777 Q77777

000017 000377 007777 177777

REGISTER INTERACTION USING BUS ADDRESS (PART &)

THIS TEST WILL INITIALIZE ALL REGISTERS W]TH A CONTROLLE
(LEAR TO THE RK611 (ONTROLLER. IT WJILL THEN WRITE THE WC
COUNT REGISTER TO 0. '

THE TEST [TSELF WwILL CONSIST OF WRITING ThE

BUS ADDRESS REGISTER WITH THE FOLLOWING FONF!IS RATIONS A
TEST IF BUS ADDRESS IS CORRECT AND THAT NO

REGISTER INTERACTION TAKES PLACE.

100000 176000 177600 17777C 000000
149000 176000 177700 17777«
160200 177000 177740 177776
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256 170000 177400 177760 177777
S

' SZ% TEST 14 REGISTER INTERACTION USING COMMAND STATUS REG.1 (PART 1)
<6 THIS TEST WitL INITIALIZE BY JISSUING A CONTROLLER CLEAR
Sg% BY WRITING THE WORD COUNT TO ZERO.
264 THE TEST JTSELF WILL CONSIST OF WRITING (OMMAND
265 AND STATUS REGISTER 1 WIT 1 THE FOLLOWING CONFIGURATIONS
266 SUCH THAT GO AND CONTROLLER CLEAR ARE RESET. IT wWwli.
267 THEN CHECX FOR CORRECT REGISTER LOADING AND THAT NO
ggg REGISTER INTERACTION TAKES PLACE.
270 i 000000 000020 000400 010000C
27" . N 000002 000040 007000 020000
272 000004 000100 ©922000 040000
2’3 000010 000200 004000
274
275
%;g TEST 15 REGISTER INTERACTION USING COMMAND STATUS REG.' (PART 2)
278 ' THIS TEST WILL INITIALIZE BY ISSUING A [ONTROL._ER CLEAR
Sgg BY WRITING THE WORD COUNT TO ZERO.
281 THE TEST ITSELF WILL CONSIST OF WRITING COMMAND
282 AND STATUS REGISTER 1 WITH THE FOLLOWING CONF IGURATIONS
283 SUCH THAT GO AND CONTROLLER CLEAR ARF RESET. iT WILL
284 THEN CHECK FOR CORRE(CT REGISTER LOADING AND THAT NO
Sgg REGISTER INTERACTION TAKES PLACE.
287 077776 077756 077376 (67776
288 0777764 077736 076776 057776
289 G?7772 077676 075776 037776
290 077766 077576 073776
291
292
%32 TEST 16 REGISTER INTERACTION USING COMMAND STATUS REG.! (PART 3
295 THIS TEST WILL INITIALIZE BY ISSUING A CONTROLLER CLEAR
Sgg BY WRITING THE WORD COUNT TO ZERO.
298 THE TEST ITSELF WILL CONSIST OF WRITING COMMAND
299 AND STATUS RZGISTER 1 WITH THE FOLLOWING CONF I GURATIONS
200 SUCH THAT GO AND (ONTROLLER CLEAP ARE RESET. 1T wWiLL
301 THEN CHECK FOR CORRECT REGISTER LOACING AND "HAT NO
gg% REGISTER INTERACTION TAKES PLACE.
104 000002 000076 001776 037776
305 000006 000176 Q03776 077776
306 000016 000376 007776 000000
307 000036 000776 017776
308
C9

;’Q TEST 17 REGISTER INTERACTION USING COMMAND STAT_ , REs.1 (PAR® &)
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TEST 20

TEST 21

TEST 22

TEST 23

8

SEQ (007

THIS TEST WILL INITIALIZE BY ISSJING A CONTROLLER (L. EAR
8Y WRITING THE WORD (OUNT TO ZERO.

THE TEST ITSELF WILL CONSIST OF WRITING COMMAND

AND STATUS REGISTER 1 WITH THE FOLLOWING CONF]JGURATIONS
SUCH THAT GO AND (ONTROLLER CLEAR ARE RESET. IT WiLL
THEN CHECK FOR CORRECT-REGISTER LOADING AND THAT NO
REGISTER INTERACTION "AKES PLACE.

000000 074000 077600 077770
040000 076000 077700 077774
060000 77000 077740 07777%
070000 . 7400 077760

REGISTER INTERACTION USING SPARE REG

ISSUE A CONTROLLER CLEAR TO INITIALIZE ALL RK611 REGISTE
WRITE THE WORD COUNT REGISTER WITH O.

WRITE THE SPARE REGISTER WITH 177777 AND MAKE SURE
NO INTERACTION TAKES PLACE.

REGISTER INTERACTION USING WORD COUNT (PART 1)

ISSUE A CONTROLLER CLEAR TO INITIAL]ZE ALL RK611 RECISTE
WRITE THE WORD COUNT REGISTER WITH THE FOLLOWING (CONFIGU
QNRCEHECK IF CORRECT AND NO REGISTER INTERATTION TAKE

L .

000000 000010 000200 004000 100000
600001 000020 000400 010000
000002 000040 001000 (20000
000004 000100 002000 040000

REGISTER INTERACTION USING WORD COUNT (PART 2)

ISSUE A CONTROLLER CLEAR TO INJTIALIZE ALL RK611 REGISTE
WRITE THE WORD COUNT REGISTER WIiTH THE FOLLOWING rONFIGU
éNchHECK IF CORRECT AND NO REGISTER INTERACTION TAKE

L .

1772777 177767 177577 173777 Q77777
177776 177757 177377 167777
177775 177737 176777 157777
177773 177677 175777 137777

REGISTER INTERACTION USING WORD COUNT (PART 3)

ISSUE A (ONTROLLER CLEAR TO INITIALIZE ALL RK&11 REGISTE
WwRITE THE WORD (OUNT REGISTER WITH THE FOLLOWING CONFIGU
AND CHECK IF CORRECT AND NO REGISTER INTERACTION TAKE

[ A 1
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TEST 24

TEST 25

TEST 26

TEST 27

9 »
SE3 0008
PLACE
000001 000027 000777 017777 000000
0J0003 000077 001777 037777
000007 000177 003777 077777
000017 000377 007777 177777

REGISTER INTERACTION USING WORD COUNT (PART 4)

ISSUE A CONTROLLER CLEAR TO INITJALIZE ALL RK611 REGISTE
WRITE THE WORD COUNT REGISTER WI'H THE FOLLOWING CONFfIGU
é?RCEHECK IF CORRECT AND NO REGISTER INTERA(CTION TAKE

100000 174000 177600 177770 000000
140000 176000 177700 177774
160000 177000 177740 177776
170000 177400 177760 177777

REGISTER INTERACTION USING DISKk ADDRESS (PART 1)

ISSUE A (ONTROLLER CLEAR TO INITIALIZE THE RKk611 REGISTE
WRITE THE WORD COUNT REGISTER W' .r, 0.

WRITE THE DISK ADDRESS REGISTER (SECTOR AND TRACK) WlTH
THE FOLLOWING CONF IGURATIONS, CHECK REGISTER CONTENTS AN
SURE NO INTERACTION "AKES PLACE.

000000 000010 000200 004000
000001 000020 Q00400 010000
000002 000040 001000 020000
00004 000100 002000 040000

100000

REGISTER INTERACTION USING DISK ADDRESS (PART 2)

ISSUE A CONTROLLER CLEAR TO INITIJALIZE THE RK6}1 REGISTE
WRITL THE WORD COUNT REGISTER WITH 0.

WRITE THE DISK ADDRESS REGISTER (SECTOR AND TRACK: WITW
THE FOLLOWING CONFIGURATIONS, CHECK REGISTER CONTENTS AN
SURE NO INTERACTION TAKES PLACE.

1272727 177767 177577 173777 Q77777
1772776 177757 177377 167777
1727775 177737 1726777 157777
177773 177677 175777 137777

REGISTER INTERACTION USING DISK ADDRESS (PART 3;

ISSUE A (ONTROLLER CLEAR TO IMITIALIZE THME RKoll REGISTE
wRITE THE WORD COUNT REGISTER WwITH 0.

£ ™
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L24 WRITE THE DISK ADDRESS REGISTER (SECTOR AND TRA(CK) WITH
(35 THE FOLLOWING CONFiGURATIONS, CHECK REGISTER CONTENTS AN
42 SURE NG INTERACTION TAKES PLACE. .
a2
$38 000001 000037 000777 017777 000000
@39 000003 000077 401777 037777
<30 000007 000177 0803777 077777
&31 000017 000377 07777 177777
32 - TEST 30 REGISTER INTERACTION USING DISK ADDRESS (PART 4)

& ;
34 ISSUE A CONTROLLER CLEAR TO INITIALIZE THE RK611 REGISTE
35 WRITE THE WORD COUNT REGISTER WITH 0.
&
037 WRITE THE DISK ADDRESS REGISTER (SECTOR AND TRACK) WITH
(38 THE FOLLOWING ONFIGURATIONS, CHECK REGISTER (ONTENTS AN
239 SURE NO INTERACTION TAKES PLACE.
INA
N
¥, 106000 1764000 177600 177770 000000
0.3 140000 176000 177700 177774
4k 160000 177000 177740 177776
L 170000 177400 177760 177777
449
46
4«2 TEST 31 REGISTER INTERACTION USING ATTN/QFFSET (PART 1)
A7
&5 ISSUE A CONTROLLER CLEAR TO INITIALIZE THE RK611 REGISTE
42; WRITE THE WORD (OUNT REGISTER WITH 0.
L5 ;
43 . WRIT THE ATTENTION SUMMARY AND OFFSET REGISTER
(34 WITH “E FOLLOWING CONFIGURATIONS. CHECK RECISTER CONTEN
ng MAKE SURE NO INTERACTION TAKES PLACE.
&
57 60000 000010 000200 004000 100000
258 600001 000020 000400 010000
259 000002 000040 001000 020000
460 000004 000100 002000 040000
52
'A
..462 . TEST 32 REGISTER INTERACTION USING ATTIN/OFFSET (PART 2)
&6 )
465 ISSUE A CONTROLLER CLEAR TC INITIALIZE THE RK611 REGISTE
229 WRITE THE WORD COUNT REGISTER WITH 0.

+ 468 WR]ITE THE ATTENTION SUMMARY AND OFFSET REGISTER
469 WITH THE FOLLOWING CONFIGURATIONS. CHECK RECISTER CONTEN
2;9 MAKE SURE NO INTERACTION TAKES PLACE.

472 177777 177767 177577 173777 Q77777

473 177776 177757 177377 167777

274 177778 177737 176777 157777

.75 177773 177677 173777 137777

2;? TEST 33 REGISTL . INTERACTION USING ATIN/OFFSET (PART 3)

(78 ISSUE A CONTROLLER CLEAR TO INITIALIZE THE Rn611 REGISTE

79 WRITE THE WORD COUNT REGISTER WITH O,
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SEQ 0010

WRITE THE ATTENTION SUMMARY AND OFFSET REGISTER
WITH THE FOLLOWING CONFIGURATIONS. (HECK REGISTER {ONTEN
MAKE SURE NO INTERACTION TAKES PLACE.

000001 000037 000777 017777 000000
000003 000077 001777 037777
000007 000177 003777 077777
000017 0N0377 007777 177777

TEST 34 REGISTER INTERACTION USING ATTN/OFFSET (PART &)

ISSUE A CONTROLLER CLEAR TO INITIALIZE THE RK611 REGISTE
WRITE THE WORD COUNT REGISTER WITH 0.

WRITE THE ATTENTION SUMMARY AND OFFSET REGISTER
WITH THE FOLLOWING CONFIGURATIONS. (HECK REGISTER (ONTEN
MAKE SURE NO INTERACTION TAKES PLACE.

100000 174000 177600 177770 00000C
140000 176000 177700 177774
160000 177000 177740 177776
170000 177400 177760 177777

TEST 35 REGISTER INTERACTION USING COMMAND STATUS REG. 2 (PART 1

RESET THE RK611 REGISTERS WITH A CONTROLLER CLEAR.
WRITE THE WORD COUNT REGISTER WITH ZERO.

WRITE COMMAND AND STATUS REGISTER 2 WITH THE FOLLOWING (
SUCH THAT SUBSYSTEM CLEAR IS RESET. (HECK (COMMAND AND ST
REG. 2 AND CHECK FOR REGISTER INTERACTION.

000000 000010 000400 010000
000001 000020 001000 020000
000002 000100 002000 040000
000004 000200 004000 100000

TEST 36 REGISTER INTERACTION USING COMMAND STATUS REG. 2 fPART 2

RESET THE RK611 REGISTERS WITH A CONTROLLER CLEAR.
WRITE THE WORD COUNT REGISTER WITH ZERO.

WRITE COMMAND AND STATUS REGISTER 2 WITH THE FOLLOWING (
SUCH THAT SUBSYSTEM CLEAR IS RESET. CHECK CCMMAND AND ST
REG. 2 AND CHECK FOR REGISTER INTERACTION.

177737 177727 177337 167737
1772736 177717 176737 157737
177735 177637 175737 137737
177733 177537 173737 077737
TEST 37 REGISTER INTERACTION USING (OMMAND STATUS REG. 2 (PANT 3

(B Y an |
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TEST

TEST

TEST

TEST

TESH

«0

41

42

&3

L4

SEQ 0011

RESET THE RK&611 REGISTERS WITH A (ONTROLLER CLEA"
WRITE THE WORD COUNT REGISTER WITH ZERO.

WRITE COMMAND AND STATUS REGCISTER 2 WITH THE FOLLOW.NG (
SUCH THAT SUBSYSTEM CLEAR IS RESET. (HECK (OMMAND AND ST
REG. 2 AND CHECK FOR REGISTER INTERACTION.

000001 000037 Q01737 Q037737
000003 000137 00s/$7 077737
000007 000337 007737 177737
000017 000737 (17737 000000

OO

REGISTER INTERACTION USING COMMAND STATUS REG. 2 (PAR' &

RESET THE RK611 REGISTERS WITH A CONTROLLER CLEAR.
WRITE THE WORD TOUNT REGISTER WITH ZERO.

WRITE COMMAND AND STATUS REGISTER 2 WITH THE FOLLOWING (
SUCH THAT SUBSYSTEM CLEAR IS RESET. (CHECK COMMAND AND ST
REG. 2 AND CHECK FOR REGISTER INTERACTION.

100000 174000 177600 177734
140000 76000 177700 177736
160000 177000 177720 177737
170000 177400 177730 000000

CHECK SUBSYSTEM CLEAR WITH BUS ADDRESS

THIS TEST WILL TEST THE ABILITY OF THE SUBSYSTEM CLEAR T
INITIALIZE THE BUS ADDRESS REGISTER AND (OMMAND

AND STATUS REGISTER 1. IT WILL ALSO VERIFY THAT ALL
OTHER REGISTERS REMAIN IN THE INITIALIZED STATE.

REGISTER INTERACTION USING DRIVE STATUS

ISSUE A CONTROLLER CLEAR TO ININITALIZE RK611 REGISTERS.
WRITE WORD COUNT TO O, WRITE DRIVE STATUS REGISTER

WITH 177777 AND MAKE SURE IT REMAINS 0 AND NO
INTERACTION TAKES PLACE.

REGISTER INTERACTION USING ERROR REGISTER

ISSUE A CONTROLLER CLEAR TO INITIALIZE RK611 REGISTERS.
WRITE THE WORD COUNT REGISTER TO 2ERO. WRITE ERROR REGIS
WITH 177777 AND MAKE SURE IT REMAINS 0 AND NO
INTERACTION TAKES PLACE.

REGISTER INTERACTION USING MAINT REG 2
ISSUE A CONTROLLER CLEAR TO INITIALIZE RK611 REGISTERS.

WRITE THE WORD COUNT REGISTER TO 2ERQ. WRITE MAINTENAMNCE
REGISTER 2 10 177777 AND NO INTERACTION TAKE PLACE.

[ X3
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22% TEST 45 REGISTER INTERACTION USING MAINT REG 3
238 A CONTROLLER CLEAR TO INITIALIZE RK611 REGISTERS.
2% URITE THE WORD COUNT REGISTER TO ZERO, WRITE MAINTENANCE
235 REGISTER 3 T0 177777 AND NO INTERACTION TAKES PLACE.
ggg "EST 46 REGISTER INTERACTION WITH DISK CYLINDER (PART 1)
200 NTROLLER CLEAR TO INITIALIZE RK611 REGISTERS.
8o WATTE THECUORD. COUNT RECISTER 10  2ERG. URITE THE DIok
80: CYLINDER ADDRESS WITH THE FOLLOWING CONFIGURATIONS. CHEC
28% ARE CORRECT AND NO INTERACTICN TAKES PLACE.
005 000000 000010 000200 004000 10000y
208 000001 000020 000400 010000
209 000002 000040 001000 020000
ggs 000004 000100 C€02000 040000
609
2}? TEST 47 REGISTER INTERACTION WIThH DISK CYLINDER (PART 2)
o1 SUE A CONTROLLER CLEAR TO INITIALIZE RK611 REGISTERS.
o SRTTE THE WORD COUNT REGISTER 10  2ERD. WRITE THE DISK
3E CYLINDER ADDRESS WITH THE FOLLOWING CONFIGURATIONS. CHEC
212 ARE CORRECT AND NO INTERACTICN TAKES PLACE.
ol 177727 177767 177577 173777 077777
3t 177776 177757 177377 167777
o2 177775 177737 176777 157777
gg? 177773 177677 175777 137777
622 \
252 TEST SC REGISIEF INTERACTION WITH DISK (YLINDER (PART 3)
o A CONTROLLER CLEAR TO INITIALIZE RK611 REGISTERS.
5% WATTE T4E WORD- COUNT REGISTER T0 ZERO. WRITE T DISK
6o8 CYLINDER ADDRESS WITH THE FOLLOWING CONFIGURATIONS. CHEC
253 ARE CORRECT AND NO INTERACTION TAKES PLACE.
630
00001 000037 000777 017777 000000
832 800003 000077 001777 037777
635 000007 000177 003777 077777
2%2 000017 000377 007777 177777
635
2%9 TEST 51 REGISTER INTERACTION WITH DISk CYLINDER (PART 4)
o3 ' REGISTERS.
A CONTROLLER CLEAR TO INiTIALIZE RK611 RE
220 URTTE THE WORD- COUNT REGISTER T2 ZERD. WwRITE THE DISK
oed CYLINDER ADDRESS WITH THE FOLLOWING CONFIGURATIONS. CHEC
5 ARE CORRECT AND NO INTERACTION TAKES PLACE.
643
100000 174000 177600 177770 000000
g 140000 176000 177700 177774
oH 160000 177000 177740 177776
o 170900 177400 177760 177777

Yy
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SEQ 0013

TEST 52 REGISTER INTERACTION USING MAINT REG 1 (PART 1)

TEST 53

TEST ..

TEST 5%

TEST OS¢

ISSUE A CONTROLLER CLEAR TO INITIALIZE RK611 REGiSTERS.
WRITE THE WORD COUNT REGTSTER TO ZERO. WRITE MAINTENANCE
REGISTER 1 WITH THE FOLLOWING CONFIGURATIONS. (HECK IF (
ARE CORRECT AND NO INTERACT!ON TAKES PLACE.

000000 00001C 000200 0r,4000 100000
000001 000020 000400 01,000
000002 000040 001000 020009
000004 000100 002000 040000

REGISTER INTERACTION USING MAINT REG 1 (PART 2)

ISSUE A CONTROLLER CLEAR TO INITIAL'ZE RK611 REGISTERC,
WRITE THE WORD COUNT REGISTER YO ZERO. WRITE MAINTEN: (E
REGISTER 1 WITH THE FOLLOWING CONFIGURATIONS., F{HECK | (
ARE CORRECT AND NO INTERA(CTION TAKES PLACE.

177777 177767 177577 173777 Q77777
177776 77757 177377 167777
1777275 V77737 176777 157777
177773 177677 1757.« 137777

REGISTER INTERACTION USING MAINT REG 1 (PART 3)

ISSUE A CONTROLLER CLEAR TO INITIALIZE RK611 REGISTERS.
WRITE THE WORD (QUNT REGISTER TC ZERO. WRITE MAINTENANCE
REGISTER 1 WITH THE FOLLOWING CONF IGURATIONS. CHECK [F C
ARE CORRECT AND NO INTERACTION TAKES PLACE.

000001 000037 OCGus .. 017777 000300
000003 000077 001777 037777
000007 000177 003777 077777
000017 000377 007777 177°77

REGISTER INTERACTION USING MAINT REG 1 (PART &)

ISSUE A CONTROLLER CLEAR TO INJTIALIZE Rx6T1 REGISVERS,
WRITE THE WORD COUNT REGISTER 10 ZERO. WR]ITE MAINTENANCE
REGISTER 1 WITH THE FOLLOWING CONFJGURATIONS, (MECK IF
ARE CORRECT AND NO INTEKRACTION TAKES PLACE.

100000 174000 177600 177770 00C00C
140000 176000 1777200 177774
160000 177000 177740 177776
170000 177¢00 177760 1727777

REGISTER INTERACTION with PATEaN &REG,
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704 ISSUE A CONTROLLER CLEAR TO INITIALIZE RK611 REGISTERS.
705 WRITE THE WORD COUNT WITH REGISTER TO 2ERO. WRITE PATTER
706 REGISTER TO 177777 AND MAKE SURE IT REMAINS C AND
707 NO INTERACTION TAKES PLACE.
708
709
;}? "EST 57 REGISTER INTERACTION WITH POSITION REG.
712 I.SUE A CONTROLLER CLEAR TO INITIALIZE RK611 REGISIERS.
713 WRITE THE WORD (OUNT WITH REGISTER TO ZERO. WRITE POSITI
714 REGISTER TQ 177777 AND MAKE SURE IT STAYS AT THE
;;2 INITIALIZED CONDITION AND NO INTERACTION TAKES PLACE.
717
;13 «« INTERRUPT TESTS
;%9 TEST 60 RK611 INTERRUPT
722 STORE LOCATIONS 0-776. LOAD LOCATIONS 0~776 TO TRAP AL!
723 POSSIBLE INTERRUPTS. LOWER PROCESSOR PRIORITY TO ZERO.
774 MAKE SURE THAT NO INTERRUPT OCCURS. NOW SET INTERRUPT
725 ENABLE AND READY. VERIFY THAT THE INTERRUPT OCCURS AT
726 PROPER VECTOR ADDRESS. MAKE SURE THAT INTERRUPT IS
727 CLEARED AFTER IT IS GIVEN.
728
729
;%? TEST 61 INTERRUPT PRIORITY
772 SET UP PRIORITY TO 1 LESS THAN INTERRUPT PRIORITY.
;gz WRITE READY WITH INTERRUPT ENABLE. MAKE SURE INTERRUPT
735 NOW SET UP PRIORITY EQUAL TO INTERRUPT PRIORITY.
736 WRITE INTERRUPT ENABLE W]TH READY. MAKE SURE INTERRUPT
737 DOES NOT OCCUR. NOW LOWER PRIOIRY AND MAKE
738 INTEKRUPT HAS BEEN STORED.
739
740
;23 TEST 62 SETTING INTERRUPT ENABLE
747 CLEAR RK611 CONTROLLER WITH CONTROLLER CLEAR. ALLOW RK6&]
744, INTERRUPTS BY SETTING PROCESSOR PRIORITY TO ZERO.
;ﬁg SET INTERRUPT ENABLE AND MAKE SURE NO INTERRUPTS CCCUR.
747
;23 TEST 63 INTERRUPT CLEARING
750 SET UP PRIORITY TO SEVEN. (REATE INTERRUPT BY SETTING
751 INTERRUPT ENABLE READY. AND CLEAR [T WlTH CONTROLLER
752 CLEAR. SET INTERRUPT ENABLE. NOW LOWEK PRIORITY
;gs TO MAKE SURE NO INTERRUPT QOf(CURS.

b
755
756 veSILO  TESTS
757
758 TEST 64 READ SILO WHEN EMPTY

759
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“IR6AD.P11 14=-SEP=-81 13:43 SEQ 0015
760 READ SILO WHEN EMPTY. (HECK FOR DATA LATE AND CONTROLLE
761 ERROR. ISSUE CONTROLLER (LEAR AND (HECK [F ERROR RESET,
78
;gg TEST 65 SILO LOADING AND UNLOADING OF ONE wWORD
766 ISSUE m ZZw1ROLLER CLFAR TO INITIALIZE RK611 CONTROLLER.
;gg CLEAR WORD COUNT REGISTER.

769 WRITE A WORD OF 177777 INTO THE SILO. CHECK ALL OTHER
770 REGISTERS FOR INTERACTION PROBLEMS. CHECK THAT QUTPUT
771 READY IS SET IN COMMAND AND STATUS REGISTER 2. IF NOT
;;g WAIT A REASONABLE TIME FOR IT.

774 IF OUTPUT READY COMES UP IN A REASONABLE TIME, READ BACK
775 CONTENTS AMD MAKE SURE IT IS 177777. CHECK FOR NO CONTR
776 ERROR, NO DATA LATE. INPUT READY SET, OUTPUT READY RESET
777 NOW READ ANOTHER WORD FROM THE SILO TO MAKE SURE DATA
;;g LATE AND CONTROLLER ERROR SET.

780

;g; TEST 66 ONE WORD SILO WRITE AND REG. INTERACTION (PART 1)

783 ISSUE CONTROLLER CLEAR AND WRITE WORD COUNT REGISTER TO
;gg ZERO.

786 WRITE ONE WORD IN SILO. CHECK ALL REGISTERS FOR INTERAC
787 PROBLEMS. CHECK THAT OUTPUT READY IS SET IN COMMAND AND
;gg STATUS REGISTER 2. IF NOT WAIT.

790 IF OUTPUT READY READY SETS READ BACK CONTENTS, AND CHECK
791 IF CORRECT.

Z°§

%32 THE 1 OLLOWING CONF IGURATIONS ARE USE™:

796 000000 000010 000200 004000 100000

797 000001 000020 000400 010000

798 000002 000040 001000 020000

799 000004 000100 002000 040000

389 TEST 67 ONE WORD SILO WRITE AND REG. INTERACTION (PART 2)

802 1SSUE CONS7U_LER CLEAR AND WRITE WORD COUNT REGISTER TO
382 ZERO.

805 WRITE ONE WORD IN SILO. CHECK ALL REGISTERS FOR INTERAC
806 PROBLEMS. (HFCK THAT OUTPUT READY IS SET IN COMMAND AND
ggg STATUS REGISTER 2. IF NOT WAIT.

809 IF QUTPUT READY READY SETS READ BACK CONTENTS, AND CHECK
g;? I1* CORREC1.

g%% THE FOLLOWING CONFIGURATIONS ARE USED:

814 177777 177767 177577 173777 077777

g°s 177776 177757 177377 167777
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TEST 70

TEST 71

TEST 72

TEST 73

17
SEQ CO16
177775 177737 176777 157777
177773 177677 175777 137777
ONE WORD SILO WRITE AND REG. INTERACTION (PART 3,

%gggf CONTROLLER CLEAR AND WRITE WORD COUNT REGISTER TO

WRITE ONE WORD [N SILO. CHECK ALL REGISTERS FOR INTERAC
PROBLEMS. (CHECK THAT QUTPUT READY [S SET IN COMMAND AND
STATUS REGISTER 2. IF NOT WAIT.

[F QUTPUT READY READY SETS READ BACK (ONTENTS, AND CHECK
IF CORRECT.

THE FOLLOWING CONFIGURATIONS ARE USED:

000001 000037 000777 017777 000000
000003 000077 001777 G37777
000007 000177 003777 077777
000017 000377 007777 177777

ONE WORD SILO WRITE AND REG. INTERACTION (PART 4)

%éggE CONTROLLER CLEAR AND WRITE WORD (COUNT REGISTER TO

WRITE ONE WORD IN SILO. CHECK ALL REGISTERS FOR INTERA(
PROBLEMS. (HECK THAT OUTPUT READY IS SET IN COMMAND AND
STATUS REGISTER 2. IF NOT WAIT.

IF QUTPUT READY READY SETS READ BACK (ONTENTS, AND (HECK
IF CORRECT.

THE FOLLOWING CONFIGURATIONS ARE USED:

100000 174000 177600 177770 000000
140000 176000 177700 177774
160000 1772000 177740 177776
170000 177400 177760 177777

SILO FILL

THIS TEST WILL WRITE THE SILO WITH 66 DIFFERENT PATTERNS
CHECK INPUT READY, OQUTPUT READr, AND DATA LATE FOR EA(H
WORD WRITTEN., IT WILL THEN READ ALL 66 WORDS BA(CK (HECK
CONTENTS, INPUT READY, OUTPUT READY, AND DATA LATE FOR E
g?fg ?EAgﬁP'¢N EXTRA READ IS THEN DONE TO MAKE SURE THE

SILO CAPACITY DATA LATE
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TEST 74

TEST 75

TEST 76

6.0 ERROP REPORTING
THF GENERAL FORMAT OF ERROR REPORTS [S:
OPERATION DESCRIPTION AND ERROR DESCRIPTION

TEST

NUM

XXXXXX
EXPECT
REG
122111

NCTE :

ERROR
P(
YYYYYY

18

SEQ 0017

WRITE 67 WORDS IN THE SILO AND MAKE SURE DATA LATE ONLY
OCCURS ON THE 67TH WORD, (LEAR RK611 WITH CONTROLLER (i
CHECK INPUT READY AND QUTPUT READY FOR INITIALIZED STATE

INTERRUPT DUE T0 DATA LATE .

ALLOW RK611 INTERRUPTS. SET INTERRUPT ENABLE.

NOW READ ONE WORD FROM DATA BUFFER AND MAKE SURE THAT
DATA LATE CAUSES INTERRUPT. BEFORE CLEARING ERROR ALLOW
RK611 INTERRUPTS AND MAKE SURE IT DOES NOT OCCUR AGAIN.
NOW CLEAR (ONTROLLER WITH A (ONTROLLER C(LEAR.

INTERRUPT CLEARING AND DATA LATE

CLEAR RK611 CONTROLLER WITH A CONTROLLER CLEAR. CREATE

A CONTROLLER ERROR (DATA LATE) BY READING THE DATA BUFFE
WHEN EMPTY. (CLEAR RK611 CONTROLLER WITH A (ONTROLLER 11
SET INTERRUPT ENABLE AND LOWER PROCESSOR PRIORITY.

MAKE SURE AN INTERRUPT DOES NOT OCCUR.

INTERRUPT ENABLE AND DATA LATE

CLEAR RK611 CONTROLLER WITH A (ONTROLLER CLEAR. AL 0w
RK611 INTERRUPTS. READ DATA BUFFER TO GENERATE INTERRUP
PENDING. MAKE SURE INTERRUPT DOES NOT OCCUR.

NOW SET INTERRUPT ENABLE AND MAKE SURE INTERRUPTS OC(URS

ACTUAL OTHER PERTENANT

REG INFORMATICN
WWWiWiWW AAAAAA

MORE THAN ONE SET OF EXPECT/ACTUAL REGISTERS MAY BE
PRINTE™ QUT. OTHER PERTENANI INFORMATION MAY (ONSIST

OF MORE THAN ONE WORD.

[ END OF DOCJUMENT ]
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001100

000000
000001
000002
000003
000004
000005
000006
000007
000006
000007

Je0000
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;xex REV 003 22

LTITLE CZRO6AD(O RKS11 DSKLS (TRL PRT1
:«COPYRIGHT (() 1976,1981

;«DIGITAL EQUIPMENT (COkP.

*MAYNARD, MASS. 01754

«FROGRAM BY RQOY SP]ITZER

*TH]IS PROGRAM WAS ASSEMBLED USING THE PDP=11 MAINDE( SYSMAC(
; *PACKAGE (MAINDEC-11-DZQAC-(C5), JAN, 1981,

|
.SBTTL OPERATJONAL SWITCH SETTINGS
SWITCH USE

15 HALT ON ERROR

14 LOOP ON TEST

13 INHIBIT ERROR TYPEOQUTS

12 ABORT PROGRAM AFTER 20 ERRORS

11 INHIBIT ITERAT]IONS

10 BELL ON ERROR

9 LOOP ON ERROR

8 LOOP ON TEST IN SWR<7:0>

SBTTL BASIC DEFINITIONS

*INITIAL ADDRESS OF THE STACK POINTER we+ 1100 wev
STACK= 1100

.8, 9.8, %N, N,
* % % % % * 2 % ¢

EQU]V FMT,ERROR ::BASIC DEFIN]JTION OF ERROR CALL
LEQu!v 10T ,SCOPE ::BASIC DEFINITION OF SCOPE CALL
J*MISCELLANEQUS DEFINITIONS

HT 1" ;:CODE FOR HORIZONTAL TAB

LF- 12 ;::CODE FOR LINE FEED

(R= 15 :;CODE FOR (ARRJAGE RETURN

(RLF= 200 ;;CODE FOR CARRIAGE RETURN~-LINE FEED
PS= 177776 : :PROCESSOR STATUS WORD

.EQUIV PS,PSW

STKLMT 177774 ::STACK LIMIT REGISTER

PIRQ 177772 : ;PROGRAM INTERRUPT REQUEST REGISTER
DSWR= 177570 ; ;HARDWARE SWIT(H REGISTER
DDISP= 177570 ; ;HARDWARE DISPLAY REGISTER
.'GENERAL PURPOSE REGISTER DEFINITIONS

RO= X0 ;;GENERAL REGISTER

R™- %1 ; ;GENERAL REGISTER

K2= ) ¥4 ;: :GENERAL REGISTER

R3= %3 ;s GENERAL REGISTER

R4 = 24 ; JGENERAL REGISTER

RS y 33 ;;GENERAL REGISTER

R6= 16 ; sGENERAL REGISTER

R?= 24 ; GENERAL REGISTER

SP= X6 ::STACK POINTER

P(= ) ¥4 ; :PROGRAM (OUNTER

JoPRIORITY LEVEL DEF INIT]IONS

PRO= 0 ;;PRIORITY EVvEL C

SEQ 0018
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000040
000100
000140
000200
000240
000300
000340

100000
04C000
020000
010000
0040G0
002000
001000
000400
000200
500100
000040
0000¢0
000010
000004
000002
000001

10C000
040000
020000
¢10000
004000
002000
001000
000400
000200
000100
~v0040
000020
000010
000004
000002
000001
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BASIC DEF INITIONS

PR1= 40 ::PRIORITY
PRZ= 130 ;:PRIOR]ITY
PR3- 140 ;:PRIORITY
PRL:= ¢oC ;:PRIORITY
PRS= 240 ;;PRIOR]ITY
PR6= 300 ;:PRIORITY
PR?7= 347 . sPRIOR]ITY

LEVEL
LEVEL
LEVEL
LEVEL
LEVEL
LEVEL
LEVEL

;v 'SWITCH REGISTER™ Sw]T(M DEFINITICNS

SwiS= 100000

Swlié= 40000
SWw13= 20090
SW12= 10000
Sw'l= 4000
Swi0= 2000
Sw(09= 1000
Sw08= 400
SW07= 200
SWi6= 100
SW05- 40
SWi4é= 20
Sw03= 10
Swi2- 4
Swl1= %

LEQUIV  SWDY,SWo
LEQUIV Sw(8,Sw8
LEQUIV  SWO7,S5w/
LEQuTV SW06,SW6
LEQUIV SWOS5,Su5
LLQUIV  SW04,SwWé
LEQulv SW03,S5W3
JEGUIv  Sw02,Swl
JEQUIVv Sw01,Sw!
LEQUIV Sw00,sw0

.*DATA BIT DEFINITIONS (BITOO 7O BIT15)
BIT15= 100000
BIT14= 40000
BIT13= 20000
BIT12= 10000
BIT11= 4000
BIT10= 2000
BIT09= 1000
BIT08= 400

BIT07= 200

BiT06= 100

BIT05= 40

Birgs= 20

BIT03= 10

BiT02= 4

BIT01= 2

BIT00= 1

.EQuUlv BIT09,B]I -
.EQulv BIT08,8]T8
.EQulvy BIT07,B]17

SNONMA S P) —

SEQ 0019
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1040
104
1042
1043
1044
1045
1046
1047
1048
1049
1050
1051
1052
1053
1054
1055
1056
1057
1058
1059
*060
1061

1062 °

1063
1064
1065
1066
1067
1068
1069
1070
1071
1072
1073
1074
1075
1676
1077
1078
1079
1080
108°
1082
1083
1084
1085
1086
1087
1088
1089
1090
1091
1092
1093
1094
1095

000004
000010
000914
000074
000014
000020
000024
000030
000034
000060
000064
000240
000114
172100
000001
120210
000005
177440

000000
000002
000004
000006
000010
000012
000014
060016
000020
000024
000026
000034
000076
009070
000032
000022

000001
060003
000005
000007
000011
000013
000015

H 2
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BASIC DEFINITIONS

.EQUIV
LEQUIV
.EQUIV
EQUIV
.EQU]V
.EQUlV

OoDoDomOoOo
e Y Y e Y

TPVEC= 64

PIRQVE (=240
MEMVEC= 114
MEMBAS= 172100

T06.BIT6
T05,8B1715
T04,B1T4
703,873
102.8IT2
T01,8IT1
100.BIT0

;:TIME OUT AND OTHER ERRORS

::R$§ESY$D AND JLLcGAL INSTRUCTIONS

;s TRACE TRAP

; ;BREAKPQINT TRAP (BPT)

;s INPUT/0UTPUT TRAP (]0T) =«SCOPE+

;;POWER FAIL

“LEMJLATOR TRAP (EMT) ~<ERRORw*

;:V'TR: ' TRAP

;. T7TY KEYBOARD VECTOR

“ITTY PRINTER VECTOR

; PROGRAM INTERRUPT REQUEST VECTOR
JMEMORY PARITY VECTOR
JMEMORY PAR]TY BASE ADDDRESS

PAR.EN= 1 ;ALLOW MLMORY PARITY OPT]ON
AVECT1= 120210 ;DEFINE RK611 VECTOR ADDRESS
APRICR= 5 ;DEFINE RK611 PRIORITY

ABASE= 177440 ;DEFINE BASE OF RK611 REGISTERS
.SBTTL RK611 CONTROLLER REGISTER DEFINITION

Rr(S1= O ;sCONTROL AND STATUS REGISTER 1
RKW(= 2 ;WORD COUNT REGISTER

RKBA= 4 ;BUS ADDRESS RFGISTER

RKDA= 6 ;DESIRED TRACK SECTOR REGISTER
RK(S2= 0 ;JCONTROL AND STATUS REGISTER 2
RKDS= 12 JPRIVE STATUS REGISTER

RKER= 14 sERROR REGISTER

RKASOF= 16 JATTENTION SUMMARY AND QFFSET REGISTER
RKDCYL= 20 JL"SIRED CYLINDER REGISTER
RKDB= 24 ;DATA BUFFER

RKMR1= 26 JMAINTENANCE REGISTER 1

RKMRZ2= 34 ;MAINTENANCE REGISTER 2

RKMR3= 36 ;MAINTENANCE REGISTER 3
RKECPS= 30 JECC POSITICN INFORMATION
RKECPT= 32 JECC PATTERN INFORMATION
RKSPAR= 22 .SPARE REGISTER

.SBTTL DRIVE COMMANDS

SELDRV= O JSELECT DRIVE

PACK= 03 sPACK ACKNOWLEDGE

CLEAR= 05 ;DRIVE CLEAP

UNLOAD= 07 s UNLOAD

SRISPL= 11 :START SPINDLE

RECAL= 13 JRECALIBRATE

OFFSET= 1§ JOFESET

SEQ C020
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CIR6AD.PMT 14=SEP=-81 13:43 DRIVE COMMANDS SEQ 0021
1096 000017 SEEK~ 7 JSEEK
1097 00002° RDDATA= 21 JREAD DATA
1098 000023 WRDATA= 23 :WRITE DATA
1069 000025 RDHEAD- 25 JREAD HEADER
1100 000027 WRHEAD= 27 JWRITE HEADER AND DATA
1101 000031 WRTCHK= 31 WRITE CHECK
}}8% 000300 INTR= 309 ;GENERATE INTERRUPT TN rp_
}}8% LSBTTL (ONTROL AND STATUS REGISTER 1 BITS
110¢ 000001 GU= BITO ;G0 BIT
1107 000100 JE= BIiTé JINTERRUPT ENARBRLE
1108 000200 RDY= BIT7 ;CONTROLLER READY
1109 000400 BA16= BIT8 ;BUS ADDRESS BIT 16
1110 001000 BA17= BITS :BUS ADDRESS BIT 17
11 002000 (DT= BITIC ;CONTROLLER DRIVE TYPE (0=RK06’
1112 004000 (T0= BITN JCONTROLLER TIMED OUT WAITING FOR
1113 ; DRIVE RESPONSE
1114 010000 fFMT= BIT1?2 JCONTROLLER DRIVE FORMAT (0-26 SECTOR, 1-24 SECTOR)
1115 020000 SPAR BI1113 ;DRIVE BUS PARITY ERROR DETECTED BY CONTROLLER
1176 040000 Dil= BIT14 JDRIVE INTERRUPT
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6AD0 RK611 DSKLS CTRL PRTI MACY11 30(1046) 14-SE i
6AD.P11 164=SEP=B1 13:43 CONTROL AND STATUS REGISTER & B]TS SEQ 0022
117 100000 (ERR= BIT1S JCONTROLLER ERROR
}}g 100000 (CLR= BITI1S JCONTROLLER CLEAR
%S? .SBTTL CONTROL AND STATUS REGISTER 2 BITS
122 000007 DRVMSK= 7 ;MASK FOR DRIVF SELECTION CODE
123 000010 RLS= BIT3 JDESELECT OR RELEASE DRIVE IN BITS 02
124 000020 BAl= BITG ;BUS ADDRESS INCREMEN™ INMIBIT
125 000040 SCLR= RITS ;CLEAR CONTROLLER AND ALL DRIVES
126 000100 IR= BIT6 :INPUT READY
127 000200 OR= BI1T7 :OUTPUT READY
128 000400 UFE= BIT8 JUNIT FIELD ERROR
129 001000 MDS= BIT9 JMULTIPLE DRIVE SELECT
130 002060 PGE= BIT10 ;PROGRAMMING ERROR
131 004000 NEM= BIT11 JNON=EXISTENT MEMORY
132 010000 NED= BIT1C JNON=-EXISTENT DRIVE
133 020000 UPE= BIT13 ;UNIBUS PARITY ERROR
134 040000 W(E= BIT14 JWRITE CHECK ERROR
}%2 100000 DLT= BIT1S :DATA LATE ERROR
1%% .SBTTL ERROR REGISTER BIT DEFINITION
136 000001 ILF= BI!TO sILLEGAL FUNCTION CODE
140 000002 SKI= BITI JSEEK INCOMPLETE
147 000004 NXF = BIT?2 JNON-EXE _UTABLE DRIVE FUNCTION
14¢ 000010 DRPAR= BIJT3 sDRIVE DETECTED CRIVE BUS PARITY ERROR
143 000020 FMTE= BIT4 ;FORMAT ERROR
144 000040 DTYE= BITS :DRIVE TYPE ERROR
145 000100 ECH- BIT6 ;ECC HARD
146 000200 BSE= BIT/ ;BAD SECTOR ERROR
147 000400 H/R(C= BIT8 ;HEADER VR(C ERRROR
148 001000 COE= BiT9 ;CYLINDER ADDRESS OVERFLOW ERROR
149 002000 IDAE= BIT10 JINVALID DISK ADDRESS ERROR
150 004000 WLE= BIT11 JWRITE LOCK ERROR
151 010000 DTE= BIT1?2 ;DRIVE TIMING ERROR
152 020000 OPl= BIT13 ;OPERATION (SEARCH) INCOMPLETE
153 040000 UNS= BIT14 ;DRIVE UNSAFE
};g *06C000 D(K= BIT1S ;DATA CHECK
J
%gg LSBTTL STATUS REGISTER BIT DEFINITION
158 000001 DRA= BITO :DRIVE AVAILABLE (CONTROLLER IS SET [F
159 : THIS BIT IS RESET)
160 000004 OFST=  BIT2 ;DRIVE OFFSE”
161 000010 ACLO= 3173 JAC LOW
1672 000020 SPDLSS= BIT4 ;SPEED LOSS
163 000040 DROT= BITS :DRIVE OFF TRAC(K
164 000100 vv= BIT6 ;VOLUME VALID
65 000200 DRDY= BIT?7 ;DRIVE READY
166 000400 DDT= BIT8 ;DRIVE TYPE (0=R.:06)
167 004000 WRL = BIT11 JWRITE LOCK
168 020000 PIP= BIT13 JPOSITIONING IN PROGRESS
166 040000 DSC= BIT14 :DRIVE STATUS (HANGE
;;9 100000 SVAL=  BIT1S ;STATUS VALID
172 LSBTTL  MAINTENANCE REGISTER 1 BIT DEFINITION

e
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000017

000020
000040
000100
000200
000400
001000
002000
004000
010000
020000
040000
100000

000020
000040
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MAINTENANCE REGISTER 1 BIT DEFINITION

MESMSK= 17 sMESSAGE MASK
PAT= BIT4 ;FORCE EVEN PARITY ON DRIVE MESSAGE LINES
DMD= BITS sDIAGNOSTIC MODE
MSP= BIT6 JMAINTENANCE SECTOR PULSE
MIND=  BIT?7 JMAINTENANCE INDEX
MCLK= BITS8 JMAINTENANCE C1.OCK
MERD=  BIT9 SMAINTENANCE ENCODED READ DATA
MEWD=  BIT10 ;MAINTENACNE ENCODED WRITE DATA
PCA= BIT1 ;PRECOMPENSATION ADVANCE
PCD= BIT1? JPRECOMPENSATION DELAY
ECCw= BIT13 JECC WORD IS BEING READ OR WRITTEN
WRTGAT= BIT14 ;WRITE GATE
RDGATE= BIT15 ;READ GATE
LSBTTL TRANSMITTED MESSAGE A
S.SEEK= BIT4 ; SEEK COMMAND
S.RECL= BITS ;RECAL IBRATE (OMMAND
S.STSP= BIT6 ;START SPINDLE COMMAND
S.RTC= BlT7 sDRIVE RETURN TO CENTERLINE COMMAND
S.CLR= BIT8 ;CLEAR ERROR AND DSC
S.FMT= BITY s FORMAT
S.UNLD= BIT10 ;UNLOAD
S.PACK= BIT"1 ;SET VOLUME VALIT (PACK ACKNOWNLEDGE?
.SBT L TRAP (AT(HER
.=0

;*ALL UNUSED LOCATIONS FROM &4 - 776 CONTAIN A '',+2 HALT"
;*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
;*LOCATION194CONTA1NS 0O TO CATCH IMPROPERLY LOADED VECTORS

DISPREG: .WORD O ;s SOFTWARE DISPLAY REGISTER
SWREG: .WORD 0 ;;SOFTWARE SWITCH REGISTER
.SBTTL STARTING ADDRESS(ES)
JMP ?#START ;;JUMP TO STARTING ADDRESS OF PROGRAM
JM514 RESTRT ;JUMP TO RESTART ROUTINE
JMP PARM ;JUMP TO OPERATOR ASSIGNED PARMETERS

LSBTTL  ACT11 HOCKS

S iS22 222282238228RR2RRRRRRRRRRRRRRRARRRRRRRRRRRRRERRERRRERRRARN)

:HOOKS REQUIRED BY ACT17

SSXQC- :SAVE PC
chDAD :21)SET LOC.46 TO